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Seat No.: Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY

DIPLOMA ENGINEERING — SEMESTER-II EXAMINATION — Summer- 2019

Subject Code: 3320002

Subject Name: ADVANCED MATHEMATICS (GROUP-1)

Time: 10:30 AM to 01:00 PM
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Instructions:
1. Attempt all questions.
2. Make Suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.
4. Use of programmable & Communication aids are strictly prohibited.
5. Use of only simple calculator is permitted in Mathematics.
6. English version is authentic.

Fill in the blanks using appropriate choice from the given options.
Clion [Aseu yde 53l wid] oxoul ual.)

If 3x+ 2yvi=6+4ithenx= V=

(M 3x+2yi =6 +4i S dlx= Y = )

(a) 2, 2 (b) 2,3 () 3,2 )11
i+it+it+it=_

(a) -1 (b) 0 ()1 (d)
Ifz=(3—4i)then|z|=___

(Alz=(3—4i)dndllzl =__)

(a) -5 (b) 25 () 5 d)o

If f(x)=x*+ 5thenf(?)=

(a) 13 (b) 5 (c) 0 (d)-3

If f(x) = logx then f(x) +f(y) = __

(o5 f(x) = logx G4 dLF(X) +f(y) = )

@ Fx + ) (b) flx— 7) @©fGy  @F()
lim(x®—3x*+5x—6) =

@1 (06 ©3 (d)-3
x3—8

lim =

@-12 (o ©) 8 (d) 12

. tanf

m—p =

(a) -1 (0O (€)1 (d) oo

d _
e (secx)=

@ sectx (b) —sectx (c) secx - tanx (d) —secx - tanx

:—x (sin®x + cos™x)=

@1 (b) -1 (©0 (d) none of these
fx7de=__ +c

(@< (b) = © 7x°  (d) 7logx

f_:: x¥dx=

(a) -1 (b) 0 (0)1 (d) £
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The order of the differential equation :T} -3 [:—"’) +4y=0Is

=4

([Asa w{l&zu =X _3 [ ] +4y =0 lsa 231.)
(@)1 (b) 0 (c)2 (d) 3
. . f r!:_'; 3 dy > _ .
The degree of the differential equation [;} +5 (;) —y=20is
3+ 3 82
(e wllsz (52) +5(Z) -y =0 4 ulkeun 44l.)
(@1 (b) 3 ()0 (d) 2

Attempt any two. (5154 oL 9LlL)
Simplify (41534 24l
(cos38 + isin38) ™ *(cosf — isinf)*®
(cos28 — isin20)%(cos136 + isinl136)

3+7
If z= T then find its conjugate complex number and modulus .
—i
(5L z = 225 G Al Al wisigh dse vl sid Hidis 9iED)

4% — 3%

X

Find the value ([¥ 2liH1): lin'EI
xX—+

Attempt any two. (5154l 6L aLall.)
Find square root of 3 + 4v/10i
(3 + 4V10i 4 4540 i),
Convert 1 — /37 into polar form.
(1 — 31 4 adla z43uxi sl
I £(x) = 1c.g( }then prove that f(x) + f(-x) = f(x?).
(1 f(x) = log (=2) @t dl =uliad 5315 F(x) + f(-x) = £(x2).)
Attempt any two. (5154BL 64 JLRLL)
2x? +5x% +4x+ 1
lim
x=-1 3x345x% 4+ x—1
3n® —4n®* —n -5
lim —
n—e 2n® + 3n* —2n+ 7

o sin286 " (1+2):"‘
im e () Im 142

Attempt any two. (51548l 61 JLRLL)

Solve the differential equation ([Asa U520 Gs4l)
x(1+ v )dx = y(1 +x%)dy

Solve the differential equation ([4s& U526l G54l)
tanydx + tanx - sec” ydy =10

Solve the differential equation ([Asa u+ls201 Gsal)

dv_l_z
x y=g"

Attempt any two. (5154l oL 9LlL)
If x = e® + sint,y = logt + cost then find :—}
iy
(4l x = e® + sint,y = logt + cost ¢4 rﬁ? UML)
g

Find velocity (v) and acceleration (a) at t = 2 for the equation of motion
s=2t3+3t*- 12t +5.
(LA s = 263 + 3t2 - 12t + 5 <ld Al 93 (V) 2l U3l (@), t = 2 U910 9LIHL.)
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If y = Acospt + Bsinpt then prove that y"+p?y = 0.
(541 y = Acospt + Bsinpt 14 dl AL[61d 521 5 y"+p?y = 0.)
Attempt any two. (5154 ol 9LlL) 08
Differentiate y = * using the defintion.
(y = & vl Heedl [Asad wiAl)
If y = (sinx)* then find y'. (51 y = (Sinx)* 1A dl y' 2li4l.)
Find the maximum and minimum value of f(x) = 2x® — 15x? + 36x + 10.
(f(x) = 2x% — 15x2 + 36X + 10 HI2 HETH, Hel <4eld, [SHA 2llHl)
Attempt any two. (5154 ol 9LlL) 06
x—5 g

x—1)(x—2)

1
J‘x3 - 27

dx
Xx—3

-1
J cos5x- sin2xdx

Attempt any two. (5154BL 64 JLRLL) 08
1
J dx
x4+l —x?
o

J e*xddx

Find the area bounded by the curve ay = x?, line x = a and X-axis.
(a5l ay = X2, VUL X = @ 21l X-218, 422 AL U2 Ho50 2IAl)
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